RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorization for an Account and the Use of Sponsorships, Donations, Sales and Fundraising derived from the Tohono O'odham Nation's Department of Health and Human Services, Division of Child Welfare Services)

RESOLUTION NO. 06-771

1	WHEREAS,	the Tohono O'odham Nation (Nation) has conducted the Nation's Division of Child
2		Welfare Services and related events, such as the annual Children's Homes'
3		Christmas Party, under the supervision of the Nation's Department of Health and
4		Human Services, with funds authorized and appropriated by the Nation; and
5	WHEREAS,	funding appropriated by the Nation provides a base, for which the Division of Child
6		Welfare Services operates its programs and related events; and
7	WHEREAS,	the Division of Child Welfare Services has solicited sponsorships and donations to
8		supplement funds budgeted for the Division of Child Welfare Services and related
9		events; and
10	WHEREAS,	such sponsorships and donations provide not only funding support for the Division
11		of Child Welfare Services in its efforts to improve services and to plan and conduct
12		related events such as the annual Children's Homes' Christmas Party, but also are
13		of benefit to the businesses and organizations and private individuals providing
14		sponsorships and donations, as it provides advertising and public relations value,
15		and it promotes giving and sharing; and
16	WHEREAS,	the Division of Child Welfare Services and the Nation wish to continue providing
17		advertising and public relations opportunities and promoting giving and sharing
18		for the Nation, businesses, organizations and private individuals, by continuing to
19		solicit and welcome sponsorships and donations; and
20	WHEREAS,	the Division of Child Welfare Services will utilize funds received by sponsorships
21		and donations to subsidize costs and expenses for its programs and related events;
22		and
23	WHEREAS,	other events and activities held before, during, and after the annual Children's
24		Homes' Christmas Party also generate income for the Division of Child Welfare
25		Services, including but not limited to food sales, other sales and fundraisers; and
26	WHEREAS,	the Division of Child Welfare Services is seeking authorization from the Legislative
27		Council to allow the Division to utilize any and all funds received from sponsors,
28		donors and sales; and
		l l

RESOLUTION NO. <u>06-771</u> (Authorization for an Account and the Use of Sponsorships, Donations, Sales and Fundraising derived from the Tohono O'odham Nation's Department of Health and Human Services, Division of Child Welfare Services) Page 2 of 3							
WHEREAS,	the Division of Child Welfare Services will report annually to the Legislative Council						
	on how funds were received and spent from sponsors, donors and sales.						
NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby							
	authorize the creation of an account for the Nation's Department of Health and						
	Human Services, Division of Child Welfare Services to use, receive and expend any						
	and all funds from sponsors, donors, sales and fundraising, to supplement funds						
allocated by the Nation.							
BE IT FINALLY RESOLVED that the accounting of all funds received will be maintained by the							
	Nation's Accounting Department, and a reporting of how all funds were received						
	and spent from sponsors, donors, sales and fundraising, will be presented annually						
	to the Legislative Council by the Division of Child Welfare Services.						
Tohono O'Oo Secretary - Ir	(2) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the dham Nation on January 18, 1986; and approved by the Acting Deputy Assistant adian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL Verion M. Jose, Legislative Chairman 2 day of, 2006						
<u>Jume</u> Lucille Lopez <u>17</u> day of Said Resolu O'Odham Na pursuant to t upon her ap	M_{M} M_{M} , Acting Legislative Secretary M_{M} , 2006. tion was submitted for approval to the office of the Chairwoman of the Tohono tion on the 2.4 day of M_{M} , 2006 at $H^2 Z_2$ o'clock, Q						
	(Authorizatio from the Toh Welfare Servi Page 2 of 3 WHEREAS, NOW, THERE BE IT FINALI The foregoin of <u>NOVEMBE</u> AGAINST; <u>419</u> Section 1 (d) Tohono O'O Secretary - In 18, 1934 (48 S Section 1 (d) Tohono O'O Secretary - In 18, 1934 (48 S						

	TOHONO O'ODHAM LEGISLATIVE COUNCIL Verlon M. Jose, Legislative Chairman
[] APPROVED	on the day of, 2006
[] DISAPPROVED	at o'clock,M.
	Returned Unsigned VIVIAN JUAN-SAUNDERS, CHAIRWOMAN TOHONO O'ODHAM NATION
Summe Softy Lucille Lopez, Acting Legisle	, at <u>10:55</u> o'clock, <u>A</u> .M.

ACTION: AUTHORIZATION FOR AN ACCOUNT AND THE USE OF SPONSORSHIPS, DONATIONS, SALES AND FUNDRAISING DERIVED FROM THE TOHONO O'ODHAM NATION'S DEPARTMENT OF HEALTH AND HUMAN SERVICES, DIVISION OF CHILD WELFARE SERVICES

MOVED: COUNCILWOMAN PHYLLIS JUAN

SECOND: COUNCILWOMAN SANDRA ORTEGA

DATE: NOVEMBER 17, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	 FRANCES MIGUEL (Absent) (Vernon J. Smith) (Present) FRANCES G. ANTONE 	155.40	x x			
CHUKUT KUK	(Lucilda J. Valenzuela (Norris)) 1. ETHEL GARCIA	129.35	X			
258.7	() 2. VERLON M. JOSE (David Garcia)	129.35	x			
GU ACHI	1. TIMOTHY L. JOAQUIN** (Jonas Robles)	110.80			X	
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80			X	
GU VO	1. RAYMOND VICTOR	96.55	x			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			x
HICKIWAN	1. DELMA GARCIA	83.70	x			
167.4	(Mary E. Sam) 2. SANDRA ORTEGA ()	83.70	x			
PISINEMO	1. BARBARA SALVICIO	85.90	x			
171.8	() 2. GERALD FAYUANT ()	85.90	x			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50		x		x
169.0	2. GLORIA RAMIREZ	84.50		x		
SAN XAVIER	1. FELICIA NUÑEZ	96.90			x	x
193.8	() 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90			х	
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			х
146.9	2. PHYLLIS JUAN	73.45	x			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	x			
421.0	() 2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	x			
SIF OIDAK	1. WAVALENE ROMERO (Absent) (Isidro Lopez) (Present)	93.35	x			
186.7	2. DARLENE ANDREW (Absent) (Rita Wilson) (Present)**	93.35	x			
	TOTAL	2,440.80	1,856.4	169.0	415.4	[04]